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(Long Answer Type Questions) 5 cach

. What do you mean by semiconservative mode of replication 7
Explain the mechanism of sume with suitable diagrams.
Or

State the principle of independeat assortment. Exolain the same with

d:thybnid cross.
2. What is pomary productivity ?
() Why does it vary in different ccosystems ?

(i) Statc the relationship betwcen EIOSS and primary productivity.

Or

State the function of a reservoir in a nutrient cyc<le. Explain the

simplified model of carbon cycle in nawie.
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(Short Answer Type Quustions) L

How does pollen mother cell develop into mature pollen grajy o
lustiaze the stages with well Libolicd diggram
Define Apomixes. Explain its significance. How can it be commercialy
used ?
State the importance of Biofortification
What do you mean by population interaction ? Diffcrentiaie betweey -
()  Mulism and Competition
(i) Parasitism and Predation

(Very Short Aﬁswer Tepe Questions) )
What are the harmful effects of ozone depletion in steatosphere o
living organisms ?

What is the function of histones in DNA packuging 7

Retcroviruses do not follow central dogma. Comment.

(0. What do you mean by anther culture ? Comument.
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(Objective Type Questions) 1
(i)  Define hot spol.
(i) ~ Organization responsible for maintaining red data book is
(a) TUCN (b) Wwp

(e} CFEES ) IBWL
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' (iii) Bi-toxin 1S

(a) Iutracellular lipid

() Intracellular eoystalline protery

() Extracellular crystalling protein

(d) Glycoprotein

(iv) which of the following is not biofertilizer ?
(1) Nostoc
(b) Mycorrhiza
(c) Agrobacterium
(d) Rhizobium

(v) I typical embryosoul the nuclei are arranged as

@ 3+2+3

b) 3+ 3+ 2
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